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QUESTION 1

What is the recommended number of physical network interfaces in a Mobile Access cluster deployment? 

A. 4 Interfaces - an interface leading to the organization, a second interface leading to the internet, a third interface for
synchronization, a fourth interface leading to the Security Management Server. 

B. 3 Interfaces - an interface leading to the organization, a second interface leading to the Internet, a third interface for
synchronization. 

C. 1 Interface - an interface leading to the organization and the Internet, and configure for synchronization. 

D. 2 Interfaces - a data interface leading to the organization and the Internet, a second interface for synchronization. 

Correct Answer: B 

Reference: https://sc1.checkpoint.com/documents/R76/CP_R76_Mobile_Access_WebAdmin/41723.htm 

 

QUESTION 2

R80.10 management server can manage gateways with which versions installed? 

A. Versions R77 and higher 

B. Versions R76 and higher 

C. Versions R75.20 and higher 

D. Versions R75 and higher 

Correct Answer: C 

Reference: http://dl3.checkpoint.com/paid/88/88e25b652f62aa6f59dc955e34f98d5c/
CP_R80.10_ReleaseNotes.pdf?HashKey=1538443232_ff63052c2c5a68c42c47eae9e15273c8andxtn=.pdf 

 

QUESTION 3

The system administrator of a company is trying to find out why acceleration is not working for the traffic. The traffic is
allowed according to the rule base and checked for viruses. But it is not accelerated. 

What is the most likely reason that the traffic is not accelerated? 

A. There is a virus found. Traffic is still allowed but not accelerated. 

B. The connection required a Security server. 

C. Acceleration is not enabled. 

D. The traffic is originating from the gateway itself. 

Correct Answer: D 
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QUESTION 4

What state is the Management HA in when both members have different policies/databases? 

A. Synchronized 

B. Never been synchronized 

C. Lagging 

D. Collision 

Correct Answer: D 

Reference: https://sc1.checkpoint.com/documents/R77/CP_R77_SecurityManagement_WebAdminGuide/
html_frameset.htm?topic=documents/R77/CP_R77_SecurityManagement_WebAdminGuide/98838 

 

QUESTION 5

Which command would you use to set the network interfaces\\' affinity in Manual mode? 

A. sim affinity -m 

B. sim affinity -l 

C. sim affinity -a 

D. sim affinity -s 

Correct Answer: D 
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